Paper 1A (Reading) Marking Guidelines

Part 1 (Questions 1 -9)

1. Mr. Unknown (1) [87]
2. (a) photos / photographs / pictures / snapshots 2 [60]
(b) lack / shortage / dearth . (3) [121
(c) take /catch/ride @) [74]
3. (the) Prince of Wales Building (5) 168]
4. (b) Likes the plan for Tamar ®) [%94]
- (c) Dislikes the plan for Tamar M [92]
(d) Dislikes the plan for Tamar (8) [88]
5. 1would like to add support / add support to Peter 9 [50]
Yuen’s posting
6. fenced off (10) [67]
7. b. Not stated (11) [88]
¢c. True (12) [91]
d. Not stated ' (13) [22]
e. True (14) [62]
f. False (15) [69]
8. a. Activity 1 (16) [69]
b. Activity 2 amn 73]
c. Activity 3 (18) [84]
d. Activity 4 (19) [69]
e. Activity 5 (20) [43]
f. Activity 6 (21) [55]
= walk/walking along the path 3\
= play/playing football
»  watch/watching movies
»  visit/visiting cultural exhibition One mark for each item fo a
» see/seeing floral show > maximum of 6 marks(16 —21)
= chat/chatting with friends
= have/having lunch
= take/taking pictures /
9. (a) Sydney (22) [82]

(b) Macau (23) [78]
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Part 2 (Questions 10 - 22)

10.
11
12.
13.

14.
15.
16.
17.
18.
19.

20.

21.
22.

three / 3

D

blue

(a) watching TV

(b) playing mahjong } Accept any order
wet

runs / ploughs / passes / goes

mad / angry / sad / frustrated

cried

buckets

~ The (poet’s) family

can start a new life
Bonus mark: full answers with clear and fluent expression

the family /the poet (and his sister )

have moved from their old apartment / home
have left their family / home

Bonus mark: full answers with clear and fluent expression
A
C

Part 3 (Questions 23 - 37)

23.

24,
25.
26.
27.
23.
29.
30.
31.
32.

(a) Between
(b) population
(c) was

A

® > O

C
the (Walled) City’s
A
A
D
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@9
25)
(26)
@7
(28)
29
(30)
GD
(32)
(33)
(34)
(33)
(36)
37
(38)

(39)
(40)
(41)

(42)
(43)
(44)
(45)
(46)
(47)
(48)
(49)
(50
(51
(52)
(53)

[95]
(55}
[20]
[88]
[53]
[26]
[4]

[73]
[18]
[30]
[35]
[40]
[15]
[10]
9]

(3]
[65]
(82]

(41]
[43]
(61}
[57]
[61]
[35]
[30]
{58]
[15]
[30]
[64]
[51]



a2
(OS]

34.
35.

60,000

50,000

404,000

30,006

Mumber of paopile

20,000

10,000

1980 //
1898 1940 1973/74 1980 - (19)83 // 1987
: early (19)80s
(58) (59) (60) (61)
[84] [83] e [62] [77]

Population / Growth / Change of Kowloon Walled City  (62) [27]

Reason 1 (63) [13]

Reason 2 : (64) [47]

Bonus mark: full answers with clear and fluent expression (65) [6]
Reasons

* The City was difficult to manage.
*  The population density is too high. / The city was too crowded.
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36. (b) 1948 (66) [59]

(c) residents / homeless / occupants 67 [27]
(d) which 68) [3]
(¢) demolish ©9y [77]
(f) tear/pull (70) [70]
(g) leaving (71 [21]
(h) 1992 (72) [87]
(i) Evacuations (73) [41]
() park (74 [61]
(k) completed / finished (75) 581
37.  kicking 2 kicked (76) [23]
reluctance 2> reluctant 77 [11]
made 2> led / lived / had (78) [3]
declined 2 grew / developed (79 [12]
with 2 without 80y [19]
times 2 time 81 [14)

Note: Figures in round brackets indicate the test item while the figure in the square brackets is the percentage
of candidates awarded a point for the item.
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